3.2 Implicit Differentiation
Calculus SOLU\'t\OT\:') Practice
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| Find the slope of the tangent line at the given x-value. Show work.
14, 2=3x*+xy*at(-1,1) 15. xIny=4-2xat(2,1)
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| Find the equation of the tangent line at the given x-va
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| Find the equations of all horizontal and vertical tangent lines. Calculator allowed. Round to three decimals. ]
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3.2 Implicit Differentiation Test Prep

20. Find the slope of the normal line to y = x + cos(xy) at (0,1).
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21. The graph of f(x), shown below, consists of a semicircle and two-line segments. f'(1) =
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